Assembly Sheet for SUPER RAIL Eco Doppelt

Number per 4 m system

12/6 X 40.00 HRK- Bolt M 16 X 27, 4.6 with nut.
20 X 40.03 HRK- Bolt M 16 X 30, 8.8 with nut.
8 X 40.04 HRK- Bolt M 16 X 45, 8.8 with nut.
4 X 40.54 HRK- Bolt M 10 X 45, 8.8 with nut.
52/56 X 40.30 Flat washer 18
4 X 40.31 Flat washer 40/18/4

| [ 4 X 40.60 Flat washer 11
1 il N 4 X 10.00 Flat washer 16

Tightening moments

Bolt M16: 70 Nm, maximum 140 Nm
Bolt M10: snug-tight
Profile A/B assembled equivalently




Assembly Sheet for SUPER RAIL Eco Doppelt

Post C- 125: 2.0 m (33.30)
Post distance: 2.00 m

Post height: 0.89 m
Tolerance + 3 cm

Distance between post and road edge=
Distance between system and road
Edge + 30 cm

Fastening angle
(part no. 32.21)

Connection post-angle:

2x Hexagon bholt M 10x45, grade 8.8
With nut (40.54) and 4 flat washer 11
(40.60), one under the bolt head and
one under the nut each

Connection post- box profile:

2 HRK bolt M 16X45, grade 8.8 with
nut (40.04)

1 Flat washer 40/18/4 (40.31) under
the bolt head and 1 flat washer 18
(40.30) under the nut each

Box Profile (33.00)

Mounted on post from upper side
Connect with butt joint (33.01) and

12 X HRK bolt M 16X30, grade 8.8 with
Nut (40.03) and 24 Flat washer 18
(40.30)

One under the bolt head and one under
the nut each




Assembly Sheet for SUPER RAIL Eco Doppelt

Position of box profile joint and
Beam joint shifted for 1.10m

Box profile shall be on the
right-hand side of the beam joint

Deformation bracket
(33.10/33.11)

With

2 X HRK-bolt

M 16X30 grade 8.8 with
Nut (40.03) and

Flat washer 18 (40.30)

Sicke unten

| | B-Profile: 6 X HRK-bolt with

‘ Nose M 16X27, grade 4.6 with

Nut (40.00) and Flat washer 18 (40.30)
A-Profile: 8 X HRK-bolt with

Nose M 16X27, grade 4.6 with

Nut (40.00) and Flat washer 18 (40.30)

Butt plate (10.00) and HRK-bolt

Stoss in Fahrtrichtung uberlappend —— N muls(i(g%dg?:g 8.8 with

e ———————t
Flat washer 18 (40.30)




FHVITIVY NN DY BYVIVIY



RAL-RG 620

00L'0

ré

00106'0

-

00'1/00C

e

niel]  OLEEILLES

[ T4 %2

0oee

|

00~ |

V-V RiUL2g

s

V]

g-vYM-2ZH

Z-L1EL N3 NId

wiby v'0s :gmotd Wby ¢'2s v o

"A® usjuRdZINYISIYRIS YeydsulRwebang

«wuaaou. 023 TIvy-¥3dNs

QlLEQ tpualg

06C-11S N 'BuoZ

£0b-1°1 8 Bunuyo1az ayats BungnEIYISIDA

19pPWabUR JISISNWSYINEIGID WNZ JS| UOmILISUcy a1g

—T—
} |
i |
Y 4 1 1 e 1 } I | 9
| [ [l
r i
EE $ 8 : q : 1E I
_ ] [
_ 1 11 ! i ) L_
i - i
‘ A
'z ! oLt T %60
00'y

i B e ik

| _ 1 ]
! 1 i i ]
1 mepom _f b eI
! 1 , I i I
m\%_n&«%ﬁ%&ﬂwﬁﬁ_ __g
! ,ﬁ _ ! i
i | ! i [ .
| I | !
" | i H =3
| g "

$1.1-390



RAL-RG 620

i e

WY LD

00°€E AN 1191

-ACe uoyueldnNYISIYNS Yeyssupwabang

‘6] ww ge6°s ‘wwis |yoiduayse))

OLIECO ‘PutiS

E 10171 N Bz
i 0 LL'0F WWQ'C UOA SHDIPUUSN
3UIB PUN,., | WWEGY UCA SYSIQUUIN SUID Jne yoIs uayaizeq
LS00 NI NId yoeu Sapueg USJULIOLaA JUDIU SSp USZUBISIOL
1-9S00L N3 #X0EX5H P
SV D¢ Y
Sy Nge
% R e al & it R \ S e I.m%
SFOLE s¥0.LCL 7008 SF0L21
[=}]
2
S ib
wm |; 9C
ML I >
b T
. §'0Fll o
21'0%0'C
= 27666 2¥0002 o = -
3 - < g =
o (=2 =Y S;m .nUf
> 77999 ZFEECL ZFEEEL & o =%
L]
, J1|||EIl.,Awllln.w||.|.|l,|||.|u|.u.||.|||||1||uw..l.|. s
LY ¢ < " T e e T i
" z7.18 <07/l S'0F/1 ﬁ
4 ) “yzee
Zg66¢

FI
2.051

1.2.1-401



RAL-RG 620

“A'® usyueETRYISIYES YeyIsupweSano

— OLIEQ -pvmS)
= LZee 093 TIVN-NIdNS N [umsBunbysageg o
202-LTH N Bz
(v
. -
s'0509
- . 1
| =
= o5
[=]
3 18 :
S |5 !
" = A—— :
£ =iy :
T T 1
[£3=72
1*H2 >
A ZT'0¥9
~ e
y
| —
[Le]
3 | i
m , ] ~/
|
e LF0S1

K2.1-202



RAL-RG 620

-A'® LeYURIdTNYDSIYEIS YeyIsueweBang

LLEEISL'EE TIN11RL
CLEL/LEEE IN IIBL

g 1yoid

093 vY-¥3dnS 404 [eBnqsuoyewilciaq

OLED ‘PUBS

ZOT-¥TH N BWRZ

(ueuyayieddog) OVINT G IBUYIBMUIS

Z¥0L

$0%01 |
&oee

g9=11| szi=t1| 21ee
pLi=41| 021=11 | SLEE
6zL=11| S8L=11| ELEE
prl=11| 002=11| LL'EE

&
»
[3,]

_* €

LF0S

1¥0€
\ &

>
[ ]
"
:,IJ\
U ZF21
1 .
L
- —
o =~
(41 -2 o
& ) .
— A
§'0¥G
™~ z=8l ZF '
\Y
P
oY
S
Sl __

1722

g'o¥g8l

K2.4-202




RAL-RG 620

A0 ueyuedRNYIEIYAS yeyosupwedand

023 ivy-¥3dns 1 j2BnqsuoneuuoRd  |ozvzy w Bez

v luoid 0L/E0 US|

(yeuaRddog) VNN § SIUBUTIRMUDS

3001

ATA

\¥22

Z¥0LL

s0¥8 "

G, =3
gLECiFL e N IBL
P ZI'SE/OL'EE IN I8l
Avy]
so=11| szi=11| 9L°€E _
pLi=11| 021=41| PL'EE m
6zi=11| S84=11| TLEE =
wpL=11| 00Z=41| OL'EE
$'0FG
mvlinlﬂ
o > e N
S 2 3
£
S
(]
[ |
=
S ™ 8

¥

Gl

ov

|

Sl

K2.4-2




RAL-RG 620

A" usKuedTNYISIYEIS WEydsuewobAND

il

WV-Y 21M JSU0S

QLICO ‘PurS, SN S1L

00°1 "IN 1oL uejdanysg 1oL N Rz mmﬁn_ i

ibunydoniaA 190 MU ([BLAPUOS &= v jyoid wioyuayjueidzny 1 PUSIUREUISAN
- . AT 240D

Lot-1717 N Buwoz
el

! -uayasnzue Bruamysb sie youziespunib puis bunysozyesnZ
H-— 9c BULO JFPO JIW SWIOH "YDIBpIoUS puabuimz 1ydiu 6unyoo (2.
s = : - /1'QFUI € UOA 930IPUUBN
| aute pun Nm: W 2% UOA S)I21qUUaN 2Uis Jne YIS Udyaizeq
| L5001 N3 NIQ UOBU Sapueg USJULIOUSA JUDIU S3p uazZuelsol
,mé - @ ‘uewiwousBbne ZuelsoUBNBIGPUEE JIP PIM UBYBI USSP U] (L.
13)

099
os‘s.

23yl

&

[

]

|
£%00€
P61

&

|

I
£¥90E

o
~
-0
o
~N
H
8
D8l
50tgl

5032y | 8 _ Wi
\% ..m 1 —1 $'0%8L == 6
\m& IW A @ S — 5¥

|
4 T | I
| = . z=08 _ S= SSUOV-A S
- =18 _
h TR

——|
(=]

[ie]

G
[
\&d-
0e

3

|

BunbaIguaIng ZeuPzua Xueqezua

nuyos

I 0t.00EY

130V1

1¥9bL
|

(l OLP
13ZLE
}

T
I
I
I
l
|
I
a_

i
[B3%%1

Z#0002

_ ™ 71992
. Z¥000€

L1.1-101

! €7051

|
Bunjdonua A Buyo Jepo N 2

f=—g ¥




RAL-RG 620

‘A'® uayue|dZNYISYEIS YeyIsuRwIENND

DO0'Z AN H2L ZoL N BWIZ 66 &S 1L
wjoyuaxue o
g jyoid wioyuayueldznyds SRR St e
yayuaqs any -usyasnzue Bruamyaialb sjie ysizespunib puis Bunyac|ziesnz
- . N:Em_o__. BUYC JBPO YW SWICH "Yolapiopa puabumz Jyaiu Bunyoo (Z.
!
. 2 & .N.w+ W SEf UOA 2)I2IGUUSN BUIB JNE UDIS UdYaizeq
mm..,ow (S ~ 15001 N3 NIQ UOBU S3pUBE USJULIOUBA JYOU Sap USZUesS[oL
‘uawiwouaByne zuelsjcludyalgpUERE SIP PliM USYEI UISSIIP U] (L.
vl W [ wrv
K] =4 2 2 =
w WRQ ~F - B hd ) R
_. 3 _ =
> _ 5072y g $0zz (o
&9 * |
5'0%81 =|= 6 .
' 5 T L _
ZF6.L _ T 1 \
GF 9SYIY-A - e 3 N
—_— Bunbaiquaing Z way|azuis ANRYypRZUZ X yoyezug
g-8 Buyos !
l—g
|
oL.00EP
o-
00€
SE+
[B24744
- #01¢
L
L¥0Le
_ EN N W (=
& to =T —n e e = =
SR ey — ——— e — == = == 2§
e . ;
ydosyian ydoueaun
! 2270001
Tlm TFEEC)
Z#0002
Z¥.99¢
(2.2¥000€
Z=000% £=0S1L

14 4 Aann




RAL-RG 620

50405 o
o o
H
S
H— |
AL A : )
! 9 |
L
S S | 2 \
1 1 | )
| myYy
| | £
I ‘3
| |
| v
3 | % !
| L |
| i
| |
! |
| |
LD Ll
| T
| I
\ i |
|
125%1.56
Einzelheit X Einzelheit Y
A ——————g g T
‘ Qo% - - 1205 |
i - D)
- N |
510.2 2 |
— e % | I - sl I s
[T9] ™~
N 25%1 ' N :
] Y ]
g N
! 18,
Toleranzen des nicht veformten Bandes nach DIN EN 10051 . y
beziehen sich auf eine Nennbreite von 260mm '82 und eine
Nenndicke von 5mm +0.20. r -
Werkstoff: S355JR, alternativ S355MC mit R 2 470 N/mm? L | Teil
1900 | 33.30
2400 | 33.31 |
2chg. Nr. P1.3-140 aﬁfol;

Stand: 03/10

Pfosten C125 fiir SUPER-RAIL Eco

Gitegemelnschaft Stahlschutzplanken o.V.

Tell Nr. 33.30
Tell Nr. 33.31

—
Vaawmn
b St

P1.3-140



PP B0 TN



- SCE 0L L B PuprED D

} n, ﬂ e ——c Suepsy - peddop 003 WS Sumuesgy

R me =
.l.\_u_\ﬁl nears) | euwnutunuymaz B ™ s At [Te]

M~
o
=
)
S
2]
s]
>

_I\..\

i L EuNFr s ea

TR
...-..!.Et-..ﬁ,lud!!.n.g!

Seite 26 von 83
Priafbericht-Nr.



e [ecoziges]  BHiBuedmg

id [ owis e

I B opu3 - ySdop 03 YS Sumueey
— > [7) 5 e

.ﬂ.lul.l.f nosmy | mwnunislunugneg SN I WY P ey

M~
(=]
=
un
<
™
wn
=

Seite 27 von 83
Priifbericht-Nr.



NAHT NP 5HVIY HN V9NN VIVIY
199938 A0 NPV HY

TRACC M0



1

9M/25-61/3"

W\ -
= I\
T L ™\
y/(n.ﬂf./)r\f.kf aw

LS )

-l

| AN
| —y
I
,
Bl ‘ B
_, | D Tetmitan IemelinedzRARTISIST  (Additional parts only)
| P e e R [N [ DESCRIPTION
| Y Siorg. S0 ¢ ) L=r=1i 1
,A _ 14 ke .&&.ﬂmﬁ@_mﬁ.@mw _
| “ 16 1 Teil Nr. 20.10
= 17 1 Teil Nr. 20.00 =
18 8 Teil Nr. 4.10 7
18 8 ‘Teil Nr. 3.00
20 , 1 |TRACC
A Ocgning cogincer | Chedked by ‘Approved by oe Date A
Shmuel Josef _ 25/03/2011
RO TRINITY INDUSTRIES, INC. TRACC connection to SR Eco Dopplet
HIGHWAY SAFETY PROCUCTS e s
2525 STEMMONS FREEWAY, DALLAS, TX 75356 |SS 1000 SR 1 1/1

Av’ 3 ”




